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log,[z(x — 1)] = log, z + log,(z ~ 1)

log 7% = 23log 7

log,(AB?) = log,A + log,B? = log, A + 2log, B
logs(a:\/ﬂ) = log,z + logs\/ﬂ = log,z + % log,y
logsm = 1 log,(z? + 1)

iny/ab = L nab = 1 (Ina +Inbd)

3,4
log<£;g_> = log (a:3y4) - 1ogz6 = 3logz +4logy — 6logz

2 1
log, (_:1_:_(_3:_+_1)) = log,= + logz(:c2 +1) - 3 logz(:c2 -1)

Va?—1
In x\/—y‘ =lnx+lln(y)=1nx+l(1ny—-lnz)
z 2 z 2

log /2% + 3 = }log(a? + ¢?)

2+ 4 2?4+ 4
log\/( Llog = 1[log(z? +4) — log(z? + 1)(z® — 7))

2+ 1)@ —T7)2 (22 + 1) (3 — 7)2
= 1[log(a? + 4) — log(a?® + 1) — 2 log(a® — 7)]

/2

1 1
— 4 - = ot — = 2
n— 6 17 =In(z \/-:-v-) Iny/y?+6y+17 = 4lnz + 2ln:c 3ln(y + 6y +17)

log, /125 = log,5%? = 3

log2 +logb =logl0 =1

log,192 — log,3 = log, 2% = log,64 = log,4® = 3
In6 —In15+In20 =Ing +1n20 = In(2 - 20) = In8
102]0g4 — (1010g4)2 — 42 =16

log,5 + 5log,2 = log,5 + log,2° = log,(5 - 2°) = log,160

A+1 =1 AB) —1 CcC?H =1 AB
log, A + log, B — 2log,C = log,(AB) — log,(C *) = log, o7
4logz — Llog(z? 4+ 1) + 2log(z — 1) = logz* — logy/z? + 1 + log(z — 1)?

zt ) zt(z — 1)?
- 1°g<7;;1) +logle = 1) =loe{ Tt



